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¥E5-Q1: debug

int x=9, y=8§, z;
if (y=x+1) z=3;
if (x-1=y+8) z=4;
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Q1: debug (answer)

|nt X=9, y=8, Z, int X=9; y=8) Z,
if (y==x+1) 2z=3; if (y==x+1)

if (x-1==y+8) z=4; >3
TLTEYTe) 2= if (x-1==y+8)

z=4;

int x=9, y=8, z;
if (y==x+1)
{ z=3;}
if (x-1==y+8)
{z=4; }
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if (hn>=100 && nn<=999)

* TE

(ENER SGERE

=N

=

?

If (nn>=100 | | nn<=999)

* TE

(EREs iR

=i

?
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[BefH-Q3: 2 i A8
If (hn<100 | | nn>999)
 FFERIFEEREE?

If (hn<100 && nn>999)

* e RAEERE?
If ( /(nn>=100 && nn<=999))

* FrefrfFEE=E?
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& Q2/3: #E e E = (answer)

if (nn>=100 && nn<=999)

e &&:and (K) £

o TFERMEUEEIE? 100<= nn  <=999
If (hnn>=100 | | nn<=999)

* |l:or(2) Kif:
s MEEFEESHIE?  unlimited *
If (hn<100 || nn>999) 100 999

o FFERAEIESEZE? 10079997 4
If (hn<100 && nn>999)

o FFERAFEIEEE? HI
if ((nn>=100 && nn<=999))

e l:not ()
o FFEIEEEEFIE? Same as (nn<100 | | nn>999)
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intx,y,z=5;

X=y=2z+5;

Z=X+y+z
System.out.printin("z =" + z);
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intx1=9,y1=8,z1=7;
x1=x1%z1;

if (x1 < 5)
yl:y1+ 1,

else
yl=x1+1;

System.out.printin("y1 =" + y1);
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x1=9;yl1=8; z1=7;
x1 =x1% z1;

if (!(x1<=5))
vli=yl+1;

else
yvl=x1+1;

System.out.printin("y1l =" + y1);
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int w=7, p=4;
X=3;
p=w/x*2;

if (p<18 && p>8)

X = (X*X)%2;

else
X=X%3;

System.out.printin("x =" + x);
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w=7;, p=4; x=3;
p=w/x*2;
if (p<18 || p>8)

X = (X*x)%2;

else
X=X% 3;

System.out.printin("x =" + x);
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w=8;p=6;x=4
X++: [//x=x+1;
if( w+1l == p+3) x=x+1;

System.out.printin("x =" + x);



w=8;p=4;x=2;
X-=; [/%x=x-1,
if (w+1!=p+3)

X = X--;
else
X = X++;

System.out.printin("x =" + x);



Q4~Q10 Answer

* Please download test _if.java, compile & run
* Then try to revise and test

R R R S AN




Assignment statement

X=x+1; X=x-1;

X++; X--;

+4X; --X;

X+=1; X-=1;
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Review BMIEZET

import jawva.util.Scanner;

pubklic claz= BMI 2 |

public static void main(String[] args) |
Scanner input = new Scanner(Syatem. in);
Svaten.ont.print("#ASE I ");
double height = input.nextDouble():
Syatem.ount.print{ "B AERE I ")
double weight = input.nextDouble();

double bmi = Math.round( {weight/ (height*height) )* 1003 / 100.0;
String statug:

71 A= R (L

L}

if (bmi = 18.5) 1
atatus = "HREEFEInderveight";
} S T
elze if (bui {Ezﬁ {4 (bmi>=18.5 && bni < 24) i B BMI<18.5
tatng = " N 1";
S e AR 1 18 5<=BMI<24
elae
gtatng = "#EEOverveight"; 38 | 24<=BMI<27
: " . e TrEl L ;27 <= BMI < 30
Syatem.ont.println("BMI © "+bmi+" » AREE: "+ztatuz); il o B o i
Siee Rz R - 30 <= BMI < 35

Hiclazs =R . BMI >= 35



):; )s /)lLﬁLr‘]

I ﬁ;;] r»EE(ar) I
! EEs
- [ srucc |
SEQUENCE ‘
| 3+ 5 B |
BMI<=18.5

BMI>=18. 5 False
BMI<18.5 28 BMI<o4
A ‘ True
(SELECTION)
Status= “ig#s” Status= “& ¥” Status= “#&&”
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I ﬁ;f] PN ,—'g (’2 < ) I
SEQUENCE I L (2 T) I

| 3+ 5 B |

False
A l
(SELECTION)
Status= “igi” Status= “& ¥” Status= “#&&”
v
‘ g distatus ‘
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SE 77

i FCL i
e

RS

HREE
BMI<18.5
18.5<=BMI<24

W& . 24<=BMI<27
§ZREIE : 27 <= BMI < 30
e ;30 <= BMI < 35
EEIRME . BMI >=35
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limport ]d\d security.SecureRandom;
import java.util.Scanner;

public class GuessN O {
public static void main(String[] args) {

SecureRandom sr = new SecurcRandom();

Scanner 1nput = new Scanner(System.in);

int a = U
1nt b =0
g= Sh nextInt(lOO)+l

System.out.print("IBEEFE(1~100) 1 ");
b = input.nextInt();

il (a =0) ( _
System.out.println("F5=HE");
}

else if (a > b)

else

System.out.print In("JFIYAE/NE\n") ;

System.out.println("fEAYAAEE \n") ;

System.out.println("BLEUE"+a);
}/main
}//class

gLE

ZEITL
Multi-way if

_)..}‘L_)..
nNX o

EE

}EE‘

J— \B/—-

ERLES



A1~ 1008 5

@ﬁ%ﬁﬁz*ﬁ%%ecureRandomeWfF B DU ZE A
nextIntpl B 17725) B 1~ 100FE AL B

e Secure: %% » Random: g B4 ~ [t
SecureRandom sr = new SecureRandom();

a = sr.nextInt(100)+1;

* new SecureRandom()Lj@Jsr%{# FH
].nextInt(100) 7,4/ methodjzE ‘O"’99I§1_7FA5*5Z‘¥§Z

e sr.nextInt(100) +1
e import java.security.SecureRandom;

o QAT ZE A 10~ 90T FE B P
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import java.security.SecureRandom;
import java.util.Scanner:

public class GuessN 1 {
public static void main(String[] args) {

SecureRandom sr = new SecureRandom();
Scanner 1nput = new Scanner(System.1in);

int a = 0;
mt b=09;
a = sr.nextInt(100)+1;

System.out.print ("JEEE(1~100) 1 ");
b = input.nextlnt();

iT(a="0) | -
System.out.println("JE=IFEN");

else {//nested if
if (a>b) ‘
System.out.printIn("JEHYA/NEE\n") ;
else
System.out.print In("JEHIAKEE \n") ;
1

System.out.print In("ELEE" +a) ;
}//main
}/class

mLE%‘ VA=
I% zZX Y o

- R
Nested if

T
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Hmport java.security.SecureRandom;
import java.util.Scanner;

LS

public class GuessN 2 {
public static void main(String[] args) {

SecureRandom sr = new SecureRandom();
Scanner 1nput = new Scanner(System.1n);

int a = 0;
int b =0;
a = sr.nextInt(100)+1;

System.out.print("BEEFE(1~100) : ");
b = input.nextInt();

1f (a'=b) { //nested 1f
if (a>Dh)
System.out.println("JEHIA/NEE\R") ;
else
System.out.print In("JBHI A KIE\n") ;
System.out.printin("@&LECE"+a);

y /it

else
System.out.println("JE=SEE!");
p/imain

}//class

o2 [ B2 L2

et — —

glLZzX X o
iR 2
Nested if

EingEF

)=

é%[‘



AE 7352 MHIEGE R

o 2% E5 Multi-way if

if (a ="Db) { . —
System.out.printIn("ZA=SFE");

]
else if (a > b) — =537
System.out.printIn("IEHYA/NE\n") ; o

else
System.out.println( ISV KE\n"); |

B AR Nested if

' I— cted
if (a!'=b) { //nested if =)

lf (a > b) L IIJ:QEEE"‘]II .
System.out.println("JFAYA/NEE\n") ; elsgy?}?gég$;fﬂ%ntln( WEFEL);

else | . - if (a>D)
System.out.prlntlniégégﬁj(ji%ﬁ\n”); 1 System.out.print In("SEHYA/NE ") ;

System.out.printIn("@ELEUE"+a); else

}y//if P ( : System.out.printIn("JEAIAKIE \n") ;

System.out.printIn("@ELE &"+a);

else Y/ /elsel

System.out.printIn("JREFFE");




Y Nested if

~—1if (al'=b) { //nested if

1f (a > D)

System.out.print In("5BAYE/NE\n");
clse

System.out.printIn( "BV KEE\n") ;
Systeﬂ.out.println(”%L%ﬁﬁ%”+a);
| ASI

_lelse

System.out.println(”iQEiﬁgﬁﬁ!");

AN

1f (a = b)
System.out.println("Z&=FEE");
else {//nested 1f
if (a > b)

System.out.println("SEAYA/NEE\R") ;
System.out.printIn("FAIAKIE \n");

System.out.println("&LEUS" "+a) ;
1/ /else

else
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. EE: SRAIEE IR AR Nested if
Multi-way if
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* Loop (71

B

B IRIE AR ~ A/
}E 1] 5 2 [

&|) can do it

1
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System.out.print("Please input a 3-digit decimal:");
Scanner ipt = new Scanner(System.in);

int nn = ipt.nextInt();

int n1=nn%10;

int n2=nn/10;

System.out.print("You input nn="+nn+"; first
digit="+n1+";");

System.out.printin("higher digit="+n2);

B SEEEE: C\Windows\System3Zicmd.exs Lﬂlﬁ

C:“Program Files“Javasjdkl.g_8_i144-binX>javac input_int.java

C:“Program Files“Java>jdkl.8.@8_144>hin>java input_int
Fleaze input your name:123456
You input nn=123456; first digit=6;higher digit=12345

C:~Program Files“Javasjdkl.8.8_1445hin>_
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¥ B = A1 & (Calendarium Gregorianum)EEFEFH AL -
o ANVEEUE TIRERY -
* 10069 fZEE N ATRERY
*  AQOHYfEEE FIHERY -

Vb

N

- HEVE R T AR

RIERT > 2HA29H » SPFAI2H 5T R528H
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https://zh.wikipedia.org/wiki/%E9%97%B0%E5%B9%B4

ARAREEE
Divisible by 4

T #1008

Divisible by 100
TI#400% M
Divisible by 400
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i

HEREIE (leap year) ~ Y (common year) it F2

e ZGEREEIR A » & IEmE?

Not 2% 85 Multi-way if

year{fi400%£[R

Not




import java.util.Scanner;
[ 1B RS mE o 2 BRI R A 5

public class leap year Oa {

public static void main(String[] args) {

String status;

System.out.println(" el ")
Scanner i1nput = new Scanner(System.1in);

int year=2000;

System.out.print ("EALITE "), l
| year = 1nput.nextInt(); TN e
<:\j_<ial‘i’€-'>[i400.¢.‘f§ﬁ%;3
if (year%:mozzmflz Y Ps
status = "[EF-(leap year)!"; LY Aearmoom>
else if (year%l100==0) LG L B /,LM
S t atus = iPi_}EEA( common year ) I ’ /4]—\!95 N < ”\'v’.(’?ar%,’{'d?‘f‘;’?ﬁé\::.m Not
clse 1 (year®4==0) e | |
status = "E4(leap year)!"; [yes [ e |
© 1 >€ " " | ‘ IR ‘
status = "FH(common year)!"; | —

1f (year>=0)
System.out.printIn("{RéEm A * AJC"+year+"4F- » B "+status);
System.out.println(” bye ")
}//main
}//class




Not

year{fi400%£[R

EIR4T 7 Nested if




Scanner input = new Scanner(System.in);  msoni— "
int year=2000; ~ S

System.out.print (" ALICH 1 "), RN O S )
year = input.nextInt(); [Came ) T
if (year%400=0) e
status = "EF(leap year)!"; | e Nt e
else 1f (year%l00!=0) | \\\\///}W e
{ ' | [ yes

arre | N
|

1f (year%4==0)

status = "EH(leap year)!"; .
else //can be omitted
status = "4 (common year)!"; //can be omitted
]
else
status = " (common year)!";
1f (year>=0)
System.out.printIn("fREwmA @ AJT" +year+"4- > & "+status);

else
System.out.printIn("{REAZER!");



No

year{fi400%£[R

Year R T #7100 [x
IEIGIEG TS

No

Yes

2 e

0y SCHN AT EE AR Bk (or)




No




L b

AR I R

o FEFFANIT -
o BANIMEEY
o RE100fYf2 5]
o ZA00MYf2EY
if ((year%4==0 && year%100!=0)| | year%400==0) {
status = "F4F(leap year)!";

}

else
status = "S£4FE (common year)!";




System.out.print ("¥ALTCH(-1:EEHK) ")
year = 1nput.nextInt();

1f ((year%4=0 && vyear%l00'!'=0)11 year%400=0) {
status = " (leap year)!";
]

else
status = "*F4E(common year)!";

1f (year>=0)

- System.out.printIn("{FémA © AJC" "+year+"F 0 & "+status);



import java.util.Scanner;
[ B R TR L — R Sy

public clags leap wear | {

public =tatic void main(Strine[] areg=) |

String statue;

Svaten.ont.printIn(" = "1

Scamner input = new Scanner(Syztem. in):

int wear=2000:

while (vear==0) {
Svatem.ont.print( &AL TEER-1EE) 1 ")
vear = input.nextint();

if ((year®d=0 &% year®100'=0711 wvear®400=0) {

statuzg = "EDE(leap year)!":
}

elae
gtatne = "PE(common vear)!":
if (vears=0)

Syatem.ont.printIn{"fREgA AT tvear+" 0 B

Vifwhile
Syaten.out.printlnl” hye "
Vifmain

Viclams

"tatatuz;
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25 B (loop)
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« EIEHI T EEYT
=ik p=iis
o BEXEIH

o (EAR[AFEE PR ? SR R
a1t =BMI
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CHRERET - EEIRE RS B

= RIAE @ for ~ while ~ do...while

. | 7 FPQ AE%/\E
WEE% IEGs Eﬁ\ A REHE A4

. ﬁﬁ%i@% B KB &
o 5 ULERIE DNE IS IS A
0.S T’I?ﬂ%% %) G True
% CPURRM: + EERESAT (M)

ek

S1;

False

while (fE&{F) {
S2;

}
S3;
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B C:\Windows\System32\cmd.exe - ja...

LB

= ]

E:\java-2017\9-22\code>javac GuessN_3.java
E:\java-2017\9- %%\code‘;java GuessN 3

JARF(1~100) -
AR

a“g%@(l 100)
A
‘3;@%5!?(1“%00) :
IR (1~100) -
TR AR
_%%@(1%00)

TEEF (1~100) -

22
12
10

08
3
=

2




_L-A—‘ EE‘E Y e
H
III ‘( )E Z‘(‘Q 3 Ei%&%ﬂ public class GuessN 3 {

public static void main(String[] args) {

‘1,:] SecureRandom sr = new SecureRandom();
ipublic class GuessN 2 { Scanner 1nput = new Scanner(System.in);
public static void main(String[] args) {
int a = 0;
SecureRandom sr = new SecureRandom(); int b =100:
Scanner input = new Scanner(System.in); q = sr.nextint(100)+l;
int a=0: while (b>U) {
it b = 0 System.out.print("JFHEF(1~100) * ");
a = sr.nextInt(100)+1; b = 1nput.nextInt();
1f (a'=b) { //nested 1f
System.out.print("HEEE(1~100) © "); 1f (a > b)
b = input.nextInt(); : AT S INEE" Y -
if (al=b) { //nested if elsgystem.out.prlntln( TRHTAVINEE")
lt (a > b) : nx=E il
System.out.printIn("FEHIA/NEE\n" ) ; Syﬂemoutpmnﬂn(jﬁﬁﬂik%&);
A L nie o //System.out.print In("BLES " +a)
System.out.print In("SHHYAKEE ") ; y /1t
System.out.printIn("@LES"+a); else {
. C}//lf System.out.println("ZA=ZFEN\n");
S —
System.out.printIn("ZSZHEE!"); | a = sr.nextInt(100)+1;
}//mdln 1/ /whilea
}//C]a\‘, URAEAALES S S
}//main

1/ /class
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public class GuessN 3 {
public static void main(String[] args) {

SecureRandom sr = new SecureRandom();
Scanner 1nput = new Scanner(System.in);

int a = 0;

int b = 100;

a = sr.nextInt(100)+1;
while (b>0) {

System.out.print ("JEET(1~100) = ");
b = 1nput.nextint();
1f (a%: b) { //nested 1f +H\
1f (a > b) %
1 System.out.println("JEHYA/NEE") ; AR (lﬂ//
else
System.out.printIn( "JEHYAAKEE") ; E“EsE T
//System.out.printIn("@LE S "+a) ;
VIt i A{H=—=RLE
else {
System.out.printIn("FE=EE1\n");
a = sr.nextInt(100)+1;

) ehile Eek g T B (g

}//main
Y/ /class



import java.security.SecureRandom;
import java.util.Scanner;
public class GuessN_3 {
public static void main(String[] args) {
SecureRandom sr = new SecureRandom();
Scanner input = new Scanner(System.in);
inta=0;
intb=0;
a = sr.nextInt(100)+1;
while (b>0) {
System.out.print("JEE52(1~100) : ");
b = input.nextint();
if (al=b) {//nested if
if (a>b)
System.out.printin("JFHY A/ NEE");
else
System.out.printIn("J&FHY A KIE");
/i

else {
System.out.printin("F5 = E % \n");
a = sr.nextInt(100)+1;
}//else
}//while
}/main
}//class

HE(T? Why?
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